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g vl Day 16: Standard form of Quadratic F-t_linctul;ns'
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Question: What is standard form of a quadratic function?

A. Review standard form of polypomials
Use the polynomial 6x° FXJ ~ - P,
. Write the polynomial in stdndard form. 2. What makes a polynomial in standarq fgrm:
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B. Vertex Form to Standard Form
Use the quadratic f(x)=3(x-2)" +4 | o 5 Bl
1. What iq’fom?tion can you ayjomatically tell? 2. Can every quadratic be written in this form? Explain
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3. Expand it so that it is in standard form of a polynomial.
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4. What do you notice has remained the same between the vertex form and the standard form?
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C. Standard form of Quadratics
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Any situation that involves jumping/thmwing/]ﬁtting/kicking/shooting something into the air will creatie a.
quadratic equation of the form X} = ax2 + bx + C. which is the standard form of a quadratic. This 1s the

most useful form to physics because it is easy to write the equation of an object being sent upward. In these real

cases, a represents 2 of the gravitational constant (1t 1S a]ways_negative because gravity pulls dow.»:n? 'anld ml_l :
eithe; be -4.9 if you are in meters per second or -16 if you are in feet per second..b represents the mitial upwar

initial hei j . written as J1(£) = =gt + vot + hg
' d ¢ represents the initial height. You will also see it }mtten as _
\\f’ifei?e{rai iscabnfut an object going up in the air or a non-situational graph, the value of a still tells you the same

thing it did in vertex and intercept form.

1. Ifa<0, the parabola ms_dgmr\ m

If |a| > 1 the parabola Mh“ﬂi _If 0<|a| <1, the parabola AS Wi d&
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3. Give the g, b, and ¢ values, then give the y-interr;:ept of the following fu-;:ctlons. o
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4. Durm eaeh of the foHowing vertex torms quadiation tnto standard form

Then, pive the VELION, o il b vinlues, nind v intercept. - ....)
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A 1o know standard form:

a 5. Besides physics, there is another reason you nee ‘
' - During & spring break (rip to St |outs, Missourt, Melissa paid o ‘vlsiil 10 lhlli* N.‘I *;r:l ) \\
Gateway Arch, On the guided tour, qhe learned that the arch v 630 feet t a|uu. the // ‘ \
legs of the arch are 630 feet apart, Being on apring break bul uli!l !hlnr&n oul
h . " LELIR L]
aath, she looked at the arch and immedinte saw o . | .
—- W realize that i she only know

(ort 1o analyze this amazing curve, Al | i
a she could determine the equation of the nrch using hel :
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In o lervent ¢
three points, the
praphing calculator,

Fill in the blank in the situation nbove,
| the pieture. Then give three points on the m‘ct *
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(he quadratic equation for the St Louis Arch,

b, Draw an x and y Nx i Ol

¢, Use your ealeulator to do quadratic regrossion and plve
| Whul s the equation and what form s it in?
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| ' wottony, ete ive the equation
v e caleulntor, online ealeulators, exvel, po mottons, ete) will always g
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